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In order that the cattle should eat — N9INR 7T NIINW 97D

OVERVIEW
X297 maintains that >X71 >7°n R°X% po0 PR (even if it is a 2°x777 P90 such as K
7°N2OK or that the 22an was probably 151 7wyn). The reason why the M7 Ix%7 777
1s 1IPnn NP2 (even though it is a P90 if he was Wwy» or not, and [seemingly] it
was initially %20 °RT), that is because it is not %2v *X71. One is obligated, 77077 11,
to give »"n only if the produce was 'n*a7 "10 X1 after the 78 wax? It is
possible 7171077 11 to avoid the obligation to give N1wy» NN if the produce is not
n°27 °10 AR after it was WNOR?7A 7R, as XWX M mentions.> mooin will qualify
this 7077 of X°ywIX " and thereby find a difficulty in the answer of the Xna.
*

mooIN asks:

— ¥ NYSIN 13¥Y 13291 S0 SN 1N 0IPN HINT NNPSM
And it is astounding! For (even though the 772 may eat it), nevertheless it is

considered as definite 332977 %2v in regards to a permanent eating. A person may

not eat a regular meal from this untithed produce -
— nYY Y103 19291 195N

even if he brought it into the house, while it was still in its husks. This a7 of ™
XYWIR is only concerning *YIR NPIX or N7 NP°OX but not ¥ap n°oX, which is prohibited even if
it was not n°277 °15 RN,

Moo proves that one may not eat ¥ap 27X of this produce that was not n°a57 *10 7RI
— MION MY NN HAN ¥YPYN NYIIN NNNHA XNNY 275 9INT

For as X°yu1X ' stated; ‘in order that the cattle eat’, indicating that the person
himself is prohibited from eating this %120 which was not n°27 %19 8.

5% " states in ([Ty7 7102] 2,70 A7) n"2 that there is no TWy» 211 unless the ARIAN is N°27 *10 AR (“sees the face of
the house’). It must be brought into the house through the regular entryway. He derives this from the 2°727) 109
(3,10 [®2n] which states n*27 1 wIPn °nwa (indicating that the wp [referring to 7wyn] was separated in the house).

2 The 70891 "3 by grain is after it was winnowed, made into a pile and smoothed down. This smoothing process is
called m . The a0 writes (7,7 [2°w9w] £°727) that 12 100 A1 7337 N°wRA, indicating that the obligation is when it is
1137 The term 7137 refers to grain after the ma» process.

3 If the nx1an is brought into the house with its husks it was not n°271 °10 X1 after the 7o8%% 3. The grain was not
threshed, winnowed, etc. when it was brought into the house.

41t is an established rule that even before m°n, one is forbidden to eat ¥ap n?>X. The novelty here is that even
though this 7X1an will never become Xn»RTM 220 (since it was already brought into the house before 7871 3);
nevertheless there is an 1312777 T0°K to eat an ¥2p NN,
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mooin offers an additional proof that one may not eat an ¥2p n%°58 of 7X12an which was not 81
n°2iT "o
— (%, 9m NNO2T NP P92 NY 1NN XN SRNODINI

And there is a X092 in Xnp0In which is brought in the first P9 of 17¥%2 noon -
— VDY INIY 1NN YIIN NDY 1NN MYYY ¢Pr1aY n*ab ©roN

If he brought into the house, stalks of grain to make dough from them; he may

eat from them temporarily (a snack) and is exempt from tithing. It is evident that he

may only eat *X7¥ N°5X but not ¥ap n%*>X from X120 which was not n°2:7 °10 7X1M. Nevertheless -
—702%PINN NPINA INY 23WNI 1997 INT) 271910 NI PAD INND)

And the poo that the 72 may have tithed detracts from the definite 33297 520

and they are considered “fit’ and are able to be eaten an ¥ap n*2X even though it is a pod
that is X1 from a 33277 °R7). However -

— 13297 NPT INT 21919 NN POV YN NI INNIN {NHN *2)
Concerning 721 why does not the P2 of 7°n%oR 712K be 821 from the 2117 SR

7972 which is only 3229722 mooin explains why the p°72 is only 132777 -
— 90 Nnbya DIV NNININTNIY

For 717077 12 we know that just 9172 alone is sufficient.

YN question is, what is the difference between 11277 720 where we rule that a po0 whether the
73 gave WY is XXM from a 131277 MO°X K7 (and permits anyone to eat), and y»n where the 90
7°nYaR is not sufficient to be X*X1» from the 1312777 7p>72 20?2

NID0IN answers:
— ENDIIIINT INTY 21T 1502 NIYA 299N PRINNT PHY 1329 9IIN)

And the "1 answered that our 71w» is discussing a case where he was not Hu2»

his y1r; in which case the obligation for 7?72 is certainly Xn>9IR7%2. A poo (of M
mnvoR) cannot be X°X1n from a XRN™IXRT XN (we saw the 7721 drag in y2m)°; however a poo (that
he gave 7wyn) can be XX from a 11277 °X7 (where the X120 was not N7 %19 aRM).

NN offers an alternate solution:
— PIPINN HPINA N 29N MIRPT NNT PNHYY 12929 99N NIV

And furthermore says the %"+, that which the Xn» 2 stated that they are

Sa"na"s mwn.

6 p912w are stalks of grain; meaning that they entered the house before 73877 ).

7 The term o>1pnn NP2 indicates that the people may eat from them (even) vap n?ox.

8 If however he was “van the yan, where the 7p>72 21°1 then is only 112775, then even if there is a yan *XT1 (we saw the
77 drag in yan), there will be no 73712 210, for the 7°n72K Poo is X*¥m from the P72 217 X7 since it is a 217 only
112970,

9 Therefore he must be p7a (if he was not Hvan). See ‘Thinking it over’ # 1.
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presumed to be P1PnR -

— 1091325 NYN TN N9 7372 93999
This is referring only to this produce that is fit only for cattle. The produce that is
fit for cattle is not MoX (°&7) if it was not n°27 19 7RM; therefore it is a pPHO 771 XXM PoO.
However produce which is fit for human consumption where there is an >X71 M0°X to consume it
as an ¥ap n°K, then indeed it is not permitted since *X71>7°1 XX pH0 PR (even if it only an MO
13277). 1

mooIn anticipates a difficulty:
— (0w 3,50 97) INYNY? 349 P92 MNINI TP999 N

And that which the X773 asks in nI7I% NOO» in Y"1 PAo -
— )9’ HYa DIYN 90919 1N 29930 12n¥9m) MINPT INNDN

Concerning that which was said there that m9%% of a gentile does not exempt

one from NMwy» NN because of the ‘people with pockets’ -
— 19212 29NN 1912 123979 PPN NN DTIP 29930 INNIAN P99V DIPYY VIO

The meaning of 1°0°> *5v1 is wealthy merchants who sell their grain to gentiles

before m=° and repurchase it from them after M9 in order to be exempt from
mMIwyn) NN, therefore the 0151 made a rule that >131 M7 does not exempt from n™n.!?

The X1 continues and asks:
— 9109 2919097 YNIWN 919 NIYWIN 2299 T2y TWAN 219 119N

By n»17n also (just like by 11%n) it is possible to be exempt from »"1n if they do
like 8", etc.!* It seems from the X7n3 that if they bring it in 75w yw2 that it is

completely exempt from n™n even for ¥ap n?5x of a person. This would contradict the
premise of MdOIN that N°27 *15 RN 7K is a Mo only for 772 NPOKR and "KW N°OX, but not for
¥ap n?IX of a person.

10 See ‘Thinking it over # 3.

" According to this answer even if he was S0an the ynn he is 211 to be p712; for X7 71 X% PoO PR, even if it is
only a 11277 °X7.

12 See footnote # 2.

13 The X7ma there asks that why is it that by 7911 if a »121 rolls the dough it does exempt the owner from giving 77%n.
Why, are we not concerned that the people will give their flour to o721 that they should roll the dough and exempt
them from 77n?! The &) answered that (even if we make this 77°13) the people can still exempt themselves from
791 2rn by making dough less than the MW required for 77n. The X3 then continues to ask on n"n as M2oIN
continues to cite from the X3,

14 They can bring in the grain 75% 7132 and be 75, Why do we make a 7713 by 2"1n and not by 75n?! (The 813
answers that when they avoid giving 7%11 by kneading less than the 1w°w, this is done in a private manner; however
by n™n if they will do as Xy " states they would be flaunting the 2wyn 211 publicly; this they are reluctant to
do.)
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mooIn responds:
$INIPNA DNON TN N1) NNNA DINKT 7993) NIOYWIN 2295 11D 192y IWIY*9 Y9N

This is the explanation of the X713 there; they can do as R''9 (bringing it in 7122)
and concerning cattle feed what did the 2>»51 accomplish (concerning cattle

feed) with their ruling that *351 m " is 20, the people will find another method how to be
exempt from n"n by cattle feed; namely by bringing in into the n°2 with its y.

SUMMARY

According to the first >"7 X, a P90 can be X*¥1 from a 71277 °RT1 (therefore by the
nYD RPN 77, it is 3K even for ¥ap NP OR); however a oo cannot be X*X1» from
a Xn»x7 X7 therefore (if we saw the 7791 n7™1) the 7°N%aR PO cannot be XX
from the y2n "X7. According to the °"3 X 7w a PoO cannot be XXM even from a
11277 °X7) and therefore (even) by the “wyn, the P50 that he was “wyn prevails only
concerning 772 2ao8n (where there is a poo if it was ever 72v), but not for ¥ap nox
where it is a [71277] *X7.

THINKING IT OVER

1. It appears from moown (first answer), if he was not 20a» and we saw the N3
777, there is a 7p>72 21°1.1° Why should we require him to make a 7>73; let us just
require him to make 911°2?!1°

2. According to mdoin first answer, the X3 (in the ¥»°X n°va °X1) should have
differentiated between the case of y»n and wyn by saying that y»n is an 70K
XN>»7R7 (since he was not Pvan) and wyn is only an 712771 Mok, Why does the
X3 say that by wyn it is a po01 Po0?!

3. I's there an obligation to separate »"17n from mn72 2o8n?!7

15 See footnote # 9.
16 See HXMW 271, W IR0,
17 See Hrwaw "27.
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